Selection PP~ 888 tX] PP 888~ bbX)  pp 888~ dax; PP~ 888 — 4qVA|

g = 1900 GeV g = 1800 GeV g = 1300 GeV g = 1800 GeV
iz = 200GeV Mg = 200GeV iz = 100GeV M = 100GeV

Net > 2 100.0+0.8 100.0£05 100.0=0.0 100.0£05

Hr > 300 GeV 100.0+0.8 100.0+0.5 100.0+0.0 100.0+0.5

HPss > 300 GeV 855427 86.8+19 771£0.5 83.0+2.1

HIiss /Hy < 1 855427 86.84+1.9 77.0+0.5 83.0+2.1
Ninuon = 0 53.4%3.6 86.0%2.0 769 +0.5 68.6+2.5
N s =0 526+3.6 85.8 2.0 76.8+0.5 683425
Nelectron = 0 342434 85.342.0 76.5+0.5 56.142.7
Nigfgt‘;g“gacks =0 33.3+34 85.0£2.0 76.1£0.5 55.6+£2.7
adron ke = 0 32.1+34 84320 753+0.5 53.9+27
Nphoton = 0 303433 815+2.1 725+05 50.6+2.7
A(PH_IFr\iss,]'l > 0.5 29.5+33 80.0+2.2 712+0.5 491427
Ay j, > 05 265+3.2 71.8+2.4 645+0.6 46£27
Ay j, > 03 248432 66.6+2.5 59.6+0.6 41.6+26
Appis , > 0.3 23.1+3.1 61.1+26 54940.6 38.7+2.6

Event quality filter 222+3.1 58.4+2.6 52.1+0.6 36.9+2.6




